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/- .PPENDIX 9 - 1977 KEY VARIABLES = MATURE wOMEN
‘" CREATE NUMBER COF WEEKS_WORKEDy WEEKS_UNEMPLOYED AND
VEEXS_OUT_CF_LABOR_FORCE BETWEEN 1976 AND 1977 SURVEY YEARS

L

BEGIN;:

DCL A(104) FLOAT DEC(5),
CK{T) FLOAT DEC(6),
WNw(7) FLOAT DEC(6),

REASON(7) FLOAT DEC{6),
ALT(T) FLOAT DECI(6),

MON(T) FLOAT DEC(6), )
DAY (T) FLOAT DEC(6),

YEAR(7)  FLOAT DEC(6),

SWN(7) FLOAT DEC(6),

SUMP(T7)  FLODAT DEC(6),

STARM(7) FLOAT DEC{6),

STARD(7) FLOAT DECI6),

STARY(T) FLOAT DEC(6),

STOPM(T) FLOAT DEC(6),

STGPD(7) FLOAT DEC(6),

STGPY(7) FLOAT DEC(6),

WEEK(7)  FLOAT DECI(6),

SCK(7) FLOAT DEC(6),
L FLOAT DEC(6)
Lo FLOAT DEC(6),
LY FLOAT DEC(6),
nl FLOAT DECtS6),
SM FLOAT DEC(6),
SO FLOAT DEC(6),
SY FLOAT DEC(6],
Fw FLOAT DEC(68);

DUMP=R(3326.); 1F DUMP=3 THEN DUMP=2;
DOLF=R(3330.): IF DOLF=3 THEN DOLF=23

A = NA;

WNWw,STOPD = NA;
ByCoDoEeFyGyPesRySeTeVeWeZ = NAS
WBID LMeLDyLY WLySMySD,SY = NA;
WORX , WUMP s WCLF yNW,H = O3

LeFw = 13

IF R(3290.) == NA & R(3291.) ~= NA € R{3292.) ~= NA
THEN T = FUN(R(3290.)sR(3291.),R{3292.));
H =13
IF R{(4507.) == NA €& R(4508.) == NA & R(4509.) ~= NA
THEN S = FUN(R({4507.),R(4508.),R{4509.));
ELSE IF R(3080.)~=NA & R(3081.)~=NA
THEM S = FUN(R(3080.),R(3081.),76);
IF S~= NA £ T == NA THEN D03
WBID = T - S + 13
DOK =S TO T3
A(K) = 03
END:
END;
ELSE GOTO DAEND;
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SM = R{3349,.):
SD = R(3350.)3
SY = R(3351.);
END:
ELSE IF R(3342.) ~= 0 & R(3348.) -~= NA THEN DO;
SM = R(3346.);
SO = R(3347.);
SY = R(3348.):
END;
ELSE IF R(3341.) -= NA THEN DO:
SM = R{3339.);
SD = R(3340.):
SY = R(3341.);
END;
IF SY -= NA & SD = NA & SM ~= NA &
R(3458.) = SY & R{3456.) = SM - ]
& R(3457.) = NA THEN DO:
SO = 13
STGPDI(1) = 303
END:
IF SY > 0 THEN DC;
IF SY € 76 THEN P = S;
ELSE IF SM > 0 THEN P = FUN{SM,S0,SY);
IFP>0E8 T > PTHENDO K =P TO T;

AlK) = 13
END:
IF R(3428.) ~= 0 .
THEN 0G3
IF R(3429.) ~= NA
. THEN DO;

8 = 13
[F P ~= NA THEN V = FLCOR{(T - P = R(3429.)
+ 1) /72 + P)3;
ELSE V= T - R(3429.);
[FP~=NAE T =P ¢1K( R(3429 )
THEN GOTC DAEND;
DO K=V T0OT HHILE(Q(3429.) > B3
IF R(3430.) > O THEN DO;
IF R{3430.) = S THEN AlK) = &3
ELSE A(K) = 53

END;
ELSE DO3
WUMP , WOLF = NA;
AlK) = 23
END:
8 =8 ¢+ 13
END3
END:
ELSE DO3

NW,WORK = NA;
IFP>0CET > P THEN DO K = P TO T;
A(K) = 33

END;:

IF R(3430.) > 0 THEN DO;

IF R(3430.) = S
THEN WUMP = NAS
ELSE WOLF = NA;
END;
ELSE WOLF.WUMP = NA;

__END: ____ e e —
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IF R(3421.) =~= NA
THEN DO:
IF R(3421.) < 76 THEN D = §3
ELSE IF R(3413.) ~= NA THEN D = FUN(R[(3419.)R(3420.), '
R({3421.));
IFD>0E&T >0 THEN DO K = D TO T3
IF A(K) = 0 THEN A(K) = 13
END:
END:
END;:

ELSE IF R(4511l.) >= 3 & R(4511l.) <= 8
THEN D03
IF DuMP = 1 THEN DO;
LM = R(3323.);
LD = R(3324.)3
LY = R(3325.)3

END:
ELSE 1IF DOLF = 1 THEN D03
LM = R(3327.)3
LD = R(3328.):
LY = R(3329.)3
END: )
IFIM> 0E8 LY >0 THEN C = FUN(LM,LD,LY)}

IF C = NA & R(3433,) > 0 THEN C = T = R{3433.) + 1;
IF R(3433.) = NA & R(3433.) = R{(3434.) &
€C == NA EC ~=T - R(3433.) + 1
THEN WL = T = C ¢+ 13
ELSE WL = R(3434.):
IF C -= NA THEN DO;
IF WL > 0 & R(3433,) ~= NA & ABS(T - C - R{3433.)) > 2
€ WL == T = C ¢l THEN WL = NAS .
[IF C <S THEN C = S3
W= 1
IF T> C THEN OO K = C 10 T3
IF WL >= 0 THEN DO;
IF WL >= W THEN AIK) = &3
53

ELSE A(K) =
W=We+l;
END:
ELSE DO;
WUMP , WOLF = NA;
A(K) = 23
END;
END;
END:
IF DUMP ~= 1 & DOLF ~= 1
THEN DO:
IF R(3438.) = NA
THEN DO

WORK,WOLFNW = NA;

IF R(3439.) ~= 0 & R(3440.) = NA THEN WUMP=NA

ELSE IF R(3440.) > O

THEN DO K = T TO § BY =13
IF L <= R(3440.) THEN A(K) = &;
ELSE A(K) = 33
L=1L + 13
END;
END:
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Fn = Fiw ¢ 1;
END;
ELSE DO3 '
IF R13439.) = 0 | R(3440.) > O
THEN DO;
IF L <= R{3440.)
THEN A(K) = 4;
ELSE A(K) = 53

L=1L+ 13
END;

ELSE DO:
WUMP,WOLF = NA;
AlK) = 23
END3

END;

END;
END;
. END3
J =13

DO I = 4165 TO 4273 BY 36;
CK(J) =x (I + 19); WNW(J) =X (I + 20); REASON{J) =X (I + 21)3

STOPY{J) =X (1 ¢ 14); WEEKlJ) = 13 SCKiJ) =X (I + 27);
STOPM(J) =x (I + 12); IF STOPD(J) = NA THEN STOPO(J) =X (I ¢ 13);
STARM{J) =X (I + 9); STARD(J) =X (I + 10); STARY({J) =X (I + 11);

e oo

YEAR(J) =X (I & 30); SwWNIJ) =X (I « 31); SUMP(J) =X (I ¢ 32);
ALT(J) =X (1 + 22); MON(J) =X (I + 28); DAY(J) =X (1 + 29);
Jd=J ¢+ 13

END;
DO J=1 TO 4;
EsFoG = NA;
IF STOPYWJ) = -1
THEN DO:

STOPM{J) = R(3290.);
STOPD(J) = R(3291.)3
STOPY(J) = R{3292.)3

END;
IF STARY(J) == NA | STOPY{J) == NA
THEN DO;

IF STARY(J) > O THEN DO;
IF STARY(J) < 76 THEN E = S;
ELSE IF STARM(J) > O THEN E =
FUN(STARM(J)»STARD(J),STARY{J) )}
END;
IF STOPM(J) > O & STOPY(J) > O THEN F =
FUN{STOPM(J),STOPD(J),STOPY(J))}
IF STOPY(J) == NA & STOPM(J) -~= NA & STOPD(J) = NA
€ SCK(J) = 0 & STOPY{J) = STARY(J + 1) € STARM(J) =
STOPM(J ¢+ 1) =1 & STARD(J + 1) = NA
- THEN 003
E = FUN(STARM(J),1,STARY(J)):
STCPD{J + 1) = 303
' END;
IFE>O0GE& F > E £ WORK =»= NA
THEN DO K = E TO F:
IF A(K) = 0 | AlK) = 3
THEN AIK) = 13
. END:
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THEN E = FUN(STARM(J),
STARD(J)+STARY({J))
ELSE E = FUN!lvloSTARY(J))3

ELSE E = S;
IF STOPY(J) > O
THEN IF STOPM(J) > O
THEN F = FUN(STCPM(J),
STOPD(J) s STOPY(J));

ELSE F = FUN(12,31,STOPY(J)):
ELSE F = T;
IF FOT THEN F = T
IF E >0 C€EF >»™E THEN DO K = E TO F;
) IF A(K) = 0
THEN AL(K) = 33
END;
END;
IF CK{J) == 0 & ALT{(J) == ]
THEN 0O
IF WNW(J) = NA
THEN DO;
IF REASON(J) > O
THEN DO;
. IF REASON(J) = 5
THEN WUMP = NA;
ELSE WOLF = NA:
END;
ELSE WUMP,WOLF = NA;
WORK 4NW = NA;
IFE>O0G&FD>=E
. THEN DO K = E TO F;
AlK) = 33
END;
END;
ELSE IF WNW(J) > O E E >0 & F > E
THEN DO3;
Z = FLOOR((F = E = WNW(J)
+1) /72 + E);
IF F=E + 1 < WNW{J)
THEN GOTO DAEND;
ELSE OO0 K = Z TO F WHILE
(WNW(J) >= WEEK(J)):
IF REASON{J) > D
THEN 00;
IF REASON(J) = S
THEN DO3:
IF WUMP -~=NA
THEN A(K)=4;
ELSE A(K)=2;
END;
ELSE DO:
IF WOLF ==NA
THEN A{K)=5;
ELSE A(K)=2;
END:
END:
ELSE 00;
WOLF,WUMP = NA;
A(K) = 23
END:
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END;
END;
IF SCK(J) = 1 | (J = 1 & R(3432.) = 1) | YEAR(J) ~= NA
THEN NO:

IF MCN(J) = R{4507.) €& YEAR(J) = R(4509.) & DAY{J) = NA

THEN DAY(J) = 1;

IF YEAR(J) -~= NA
THEN DO; '
IF YEAR(J) < 76 THEN G = S;
ELSE IF MON(J) > O THEN G = FUN{MON(J),DAY(J),
YEAR(J)):
END: ’
U= 1;
IF J = 1 € R{3432.) = 1 THEN E = P;
IF E ~= NA & SWN(J) ~= NA & G = NA THEN G = E - SWN(J)3
IF SWN(J) = SUMP(J) € E ~= NA £ G ~= NA & SUMP{J) == NA
€ SUMP(J) ~= E - 6 THEN SUMP(J) = E - G;
IF G >D0EED>G
THEN DO:
IF SWN(J) > O & ABS(E = G - SWN(J)) > 1
€ SUMP(J) ~= E - G & SUMP(J) > O
THEN SUMP(J) = NA;
DO K= G TO £ -1
IF SUMP{J) >= 0

THEN DQC3;
IF SUMP(J) >= U
THEN DO;
IF WUMP == NA
THEN A(K) = &3
ELSE A(K) = 23
END?
ELSE DO;
IF WOLF == NA
THEN A(K) = 53
ELSE A(K) = 23
END:
END;
ELSE DO;
WUMP o wOLF = NAj;
AlK) = 23
END;
U= U + 13
END;
END:
END:
END:
IFS>0¢E6T>S THEN DO K= S TD T3
. IF A(K) = 0 & A{K —=1) ~= 0 £ A(K #1) ~= 0
THEN A(K) = 13
IF A(K) = 1 & WORK <= NA THEN WORK = WORK ¢ 13
IF A(K) = & & WUMP ~= NA THEN WUMP = wWUMP + 13
IF A(K) = 5 € WOLF =~= NA THEN WOLF = WOLF + 13
IF A(K)=0 | A(K)=3 THEN 00;
] {oWUMP s WOLF yNW=NA S
Enus
IF (A(K)=2 | A(K)=4 & WUMP=NA | A(K)=5 & WOLF=NA) & Nw~=NA THEN Nw=Nw+l3

END;
£N TN ARNUINN:



Page 7

UN: PROCIM,0,Q)3
OCL (4,0,Q2) FLOAT DEC(6);
IF 0= NA THEN O = 15;
N = FLOORIIQ =76) * (365 /7) + (M =1) * (13 /3) + (0 =4) / (365 /52)+ H);
IF NCS THEN N = S
RETURN (N)3
END FUN;

AROUND:

NUWK=NA ;

IF R(3290.)~=NA & R(3291.)~=NA & R{3080.)~=NA & R(308l.)~=NA THEN DO;
NUHKs((R(3Z90.)‘30.42+R(3291.)*365)-}R(3080.)‘30.42*R(3081.)))/73
END: .

1

R{4522.)=WORK {
R(4523.)=wuMP;
R(&45264.)=WOLF:

END3S
/% CREATE TOTAL FAMILY ASSETSy EXCLUDING AUTOMOBILES

/> ASSIGNMENTS =/
Fg R(4511.); QORR = R(4037.); MVR = R{4039.); DBR = R(4040.);

r = R(4041.); MVF = R(4042.); QMVFIH = R(4043.); DBF = R{4044.);
v (B = R(4045.): MV8 = R(4046.): DBB = R(4047.); QHIRE = R(4048.); ~
MVRE = R{4049.): DBRE = R(4050.): ODBRE = R{4051.); QSAV = R({4062.);
ASAV = R(4063.); 0SB = R(4064.); ASB = R(4065.); QBSMF = R(4066.);
MVBSMF = R(4067.); QPLM = R({4068.); APLM = R[4069.); QOTL = R(4070.):
AOTL = R(4071.); QAFIB = R{4075.); QTFIF = R({4079.); QAFIRE = R(408l.);
QTFIID = R{&083.):

ASSET = NA;

[F MVR = -] THEN MVR = NA;
IF DBR = -1 THEN DBR = NA3
IF MVF = -1 THEN MVF = NA;
IF DBF = =] THEN DBF = NA;
[F MV = =] THEN MVR = NA3
IF NBA = -1 THEN DBB = NA:

[F MVRE = -1 THEN MVRE = NA;

[F DBRE = -] THEN DBRE = NA:

[F ODBRE = -1 THEN ODRRE = NA;

[F ASAV = -] THEN ASAV = NA;

[F ASB = -1 THEN ASB = NA;

IF MVBSMF = -1 THEN MVBSMF = NAj

TS APLM = -] THEN APLM = NA;
AQTL = -] THEN AOTL = NA3

Ir FSR>=0 & ESR<=8 THEN 0O;
AS = 03 CHECK = 03

L. = NAj _
.~ QORR=1 | GORR=NA THEN DO:
[F (MyR=NA | DBR=NA) € QMVFIH==1l THEN CHECK = CHECK+l;
[F MYR-~=NA £ DBR-~=NA THEN HOUSE = MVR-DBR;
END: '

.. THEN HNIISE = O3
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(QHIF=Q0 | QTFIF=0) & MVFsNA & DBF=NA

(QHEFs] | QHIFsNA) & FARM=~=(
IF MVFsNA | DBF=NA
ELSE FARM = MYF-DB8F;
END:
IF FARM==NA
SSNS = NA;

IF (QHIB=0 | QAFIB=0) & MVBaNA & DBB=NA

IF (QHIB=1 | QHMIB=NA) & BSNS~=0
IF MVB=NA | DBB=NA

ELSE BSNS = Mv8-DB8B;

END:

IF BSNS~=NA

REAL = NA;

THEN
THEN
THEN

THEN
THEN

THEN
THEN

THEN

FARM = 03
00;
CHECK = CHECK+l;

ASSET = ASSET+FARM;
B8SNS = 03

00;
CHECKX = CHECK+l;

ASSET = ASSET#BSNS:

IF (QHIRE=0 | QAFIRE=0) & MVRE=NA & DBRE=NA & ODBRE=NA

IF (QHIRE=1 | QHIRE=NA) & REAL-~=0

IF MVRE=NA | DRRE=NA | ODBRE=NA

ELSE REAL = MVRE-DBRE-QODBRE:

END3

IF REAL~=NA

IF (QSAv=0 | QTFIID=0) & ASAV=NA

ELSE SAVE = ASAVS

" SAVE=NA

+ = ASSET = ASSET+SAVE:

1. .QSB=0 | QTFIID=0) & ASB=NA
SE USBOND = ASB;

- US3OND=NA

ELSE ASSET = ASSET+USBOND;

IF (QBSMF=0 | OTFIID=0) & MVBSMF=NA

ELSE STOCK = MVBSMF3

IF STCCK=NA

ELSE ASSET = ASSET+STOCK;

IF (QPLM=0 | QTFIID=0) & APLM=NA
ELSE LOAN = APLMS

IF LOAN=NA

IF QCTL=0 & AQTL=NA

ELSE DEBT = AOTL:

IF DEBT=NA

ELSE ASSET = ASSET-DEBT:

IF ASSET>=-99990 § ASSET<=999999 & CHECK>O

IF ASSETO>NA & ASSETK-99999
IF ASSET>999999
END3

R(4526.)=ASSET;

THEN
THEN
THEN

THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN

THEN
THEN

THEN
THEN

THEN
THEN

REAL = 03
00:
CHECK = CHECK+l1;

ASSET = ASSET+REAL;
SAVE = 03

CHECK = CHECK+13:
USBOND = 03

CHECK = CHECK+1;
STOCK = 0;

CHECK = CHECK#13
LOAN = 0;

CHECK = CHECK+l13
DEBT = 03

CHECK = CHECK+1:
ASSET = NA3

ASSET = =99999;
ASSET=999999;

Page 8



LREATE TOTAL FAMILY INCCME,

/* ASSIGNMENT FOR KEY TOTAL FAMILY
ESR=R(4511.): [IWSR=R(4072,);
NIBR=R(4076.); NIBDF4=R(4078.);:
NIFTF=R(4080.): QTFIF=R(4079.):
QAFIRE=R{408l.); QNRR=R(4037,):
QTFIID=R (4083.); QSAV=R(4062.);
QPLY=R(4068.); IUECR=R(4087.):

QIUECOF4=R(4088.)7 [SUBR=R(4092.):

1977

QNIBOFM=R (4077.);
QHIF=R(4041.);
QHIRE=R (4048,);
QSA=R(4064.);
QIUVECR=R (4085.);

Page 9

INCOME 1977 =/

INSOFM=R {4074.);

QHIB=R(4045.)3

NIRETF=R{4082.):
NITF1ID=R(408%.) 3

QBSMF=R(4066.) 3

TIUECOFM=R(4089.);

QISUBR=R (4090.); ISUBOFM=R(4094.);

QISUBCFu=R(4093,);
QUACAF#=R (4098.):

ISSR=R(4102.);

100CFM=R{4106.);
I0SSOFM=R (4113,.);
ISICOFM=R (4120.):
NMGFS=R (4124.);

TAPOFM=R (4131.);
LSFPCFM=R(4140.1 %
IRPOFY=R(4147,);

ICSP=R(4133.):

INCR=R (4099.)
ISSOFM=R (4103.);

MIGFS=R(4125.9;
LSFPR=R{4136.);
QIRP=R(4141.)3
QIAQI=R(4148.);
QAFIB=R(4075.):

IF "NSR= =1 THEN IWSR=NAj;

e ,§S= -1 THEN IWSS=NA:
[WSOF M= =1 THEN IWSOFM=NA;

ar NIBR= =] THEN NIBR=NAj;

IF NIBOFM= -1 THEN NIBOFM=NA;

IF NIFTF= =1 THEN NIFTF=NA;

IFf NIRETF= -1 “THEN NIRETF=NA;

IF NITFIID= -1 THEN NITFIID=NA;

If IUECR= -1 THEN [UECR=NA3

IF IUECOF%= -1 THEM IUECOFM=NA;

IF ISUBR= =1 THEN [SUBR=NAj;

IF ISUBOFM= -1 THEN ISUBOFM=NA:

IF _IVCR= =1 THEN 1VCR=NA;

IF IVCOFM= -} THEN IVCOFM=NA;

IF IWCR= =1 THEN IWCR=NA3

IF IWCOFM= =1 THEN IWCOFM=NA:

IF ISSR= -1 THEN ISSR=NA3

[F ISSOFM= =1 THEM ISSOFM=NA;

IF IODR= =1 THEN I10DR=NA;

IF I000FM= -] THEN I0DOFM=NA;

IF 10SSS= =1 THEN 1DSSS=NA;

IF [10SSOFM= -1 THEN [0SSOFM=NA;

IF ISICOFM= -] THEN 1SICOFM=NA;

IF IwWPAAFM= -] THEN IWPAAFM=aNA:

"~ MIGFS= =1 THEN MIGFS=NA ;
CGFS= -1 THEN CGFS=NA;

[F taAP= =] THEN QIAP=NA;

TF  PR= =] THEN TAPR=NA:
IAPOFM= -1 THEN [APQOFM=NA;

«F LSFPR= =1 THEN LSFPR=NA;

IF LSFPS= =1 THEN LSFPS=NA;

IF IRPR= =] THEN IRPR=NA;

IF 1A01I= -] THEN IACI=NAS

QIVCAFM=R (409S5.);

QIOSSAFM=R (4107,
ISICAFM=R(4114.)3
IWPAAFM=R (4122,

IVCR=R (4096.) ;
INCOFM=R (£100.);
QIODAFM=R {4104.)3
}J3 I0SSR=R(4109.):
ISICR=R{4116.);

IVCOFMaR(4097.)3
QISSAFM=R(4101.)
IODR=R(4105.)3

10SSS=R(4l11.);

ISICS=R(4118.):

)3 QWPAAFM=R(4121.); QGFS=R(4123.):
CGFS=R(4126.); QlAP=R(4127.): IAPR=R(4129.)
QLSFP=R(4134.); LSFPS=R(4138.);
IRPR=2R (£4143.); [IRPS=R(4145.);
[ADI=R(4149.); QICSP=R{4132.)3
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“* 107 MEM=0; MEM16=0; MEM18=0; INC=0;
dAS

L. I=4568 TO 4748 BY 10:
IF X (I)=] THEN WIFE=1;
IF X {1)>1 THEN 00;
MEM=];
IF X (I+1)~=NA € X ([+3)~=NA THEN AGE=X (I+3)#%100+X (I+1);
[F AGE-~=NA & (AGEKS5904 | AGE>7704) THEN MEM18=];
[F AGE~=NA & (AGE<H104 | AGEDTT704) THEN MEM16=1:
AGE2=NAj;
[F X (Tel)=NA € X (I+3)~=NA THEN AGE2=X (1+3);
[F AGE2~=NA & (AGE2<59 | AGE2>T78) THEN MEM18=1:
[F AGE2~=NA & (AGE2<61 | AGE2>78) THEN MEMl16=];
END: END;s
)0 Q=4797+4799,4801,4803;
[F X (0)=5000 THEN X (Q)=NA;
END:
[F IWSR=NA THEN GO TO DAEND;
ZLSE INC=INC+IWS?;
[F WIFE=0 £ IWSS=NA THEN IKWSS=0;
[F IWSS=NA THEN GO TO DAEND;
ILSE INC=INC+IWSS;

[F MEM16=0 & lWSOFM=NA THEN [WSOFM=0; - ,
[~ INSOFM=NA THEN GO TO DAEND;
: INC=INC+IWSOFM;

[F fNIBR=NA & (QAFIB=0 | QHIB=0)) | NIBR=1 THEN NIBR=0;
re  BR=NA  THEN GO TO DAEND;
= INC=INC+NIBR;
\- (NIBOFM=NA & ((MEM16=0 & WIFE=0) | QNIBOFM=0 | QHIB=0)) | NIBOFM=1
THEN NIBCFM=03 .
[F NIBOFM=NA  THEN GO TO DAEND;
:LSE INC=INC+NIBOFM;
'F (NIFTF=NA £ (QTFIF=0 | QHIF=0)) | NIFTF=1 THEN NIFTF=0;
[F NIFTF=NA  THEN GO TO DAEND;
iLSE INC=INC+NIFTF;
'F (NIRETF=NA € (QAFIRE=0 | (QORR>L & QHIF=0 & QHIS=0 & QHIRE=0))) |
ITRETF=1 THEN NIRETF=0;
'F NIRETF=NA  THEN GO TO DAEND;
ILSE INC=INC+NIRETF;
'F NITFIID=NA & (QTFIID=0 | (QSAV=0 & QSA=0 & QBSMF=0 & QPLM=0))
"HEN NITFIID=03
'F NITFIID=NA THEN GO TO DAEND;
:LSE INC=INC+NITFIIO;
'F IUECR=NA £ QIUECR=0 THEN [UECR=0;
'F 1UECR=NA THEN GO TO DAEND;
2LSE INC=INC+IUECR;
'F TUECOFM=NA & (QIUECOFM=0 | (MEM18=0 & WIFE=0)) THEN IUECOFM=0;
'F IUECDFM=NA THEN GO TO DAEND;
2LSE INC=INC+IUECOF™;
'~ ISUBR=NA & [(QISURR=0 | IUECR=0) THEN ISUBR=0;
ISUBR=NA  THEN GO TO DAEND:;
:LSF INC=INC+ISUBR;
'F JBNFM=NA £ (QISUBOFM=0- | [UECOFM=0 | (MEM18=0 & WIFE=0))
in ISUBOFY4=03 |
.. 1SUBDOFM=NA  THEN GO TO DAEND;:
:LSE INC=INC+ISUBDFM;
[F QIVCAFM=0  THEN DO;
'F IVCR=NA THEN 1VCR=03:
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IF .WCOFM=NA THEN IWCOFM=0;

ENT
.SSAFM=Q THEN 00:
. 4SSR=NA THEN [SSR=0:
IF ISSOFM=NA4 THEN ISSCFM=0;
END:
IF QIODAFM=Q THEN DO
[F I0ODR=NA THEN I00R=0;
[F 10D0OFM=NA THEM 10D0FM=0;
END

I[F MEM=0 £ #IFE=0 THEN DO

[F [VCOFM=NA THEN IVCOFu=0;

[F INCOFM=NA THEN 1WCOFM=0;

[F ISSOFM=NA THEN 1SSOFM=0;

[F I0DOFM=NA THEN I0DOFM=0;

IND:

[F IVCRY>0 & IVCCOFM=NA THEN IVCOFM=0;

[F IVCOFM>d0 & [VCR=NA THEN [VCR=03

[F INCRDO & IWCOFM=NA THEN IwCOFM=0;

[F INCOFM>D0 £ IWCR=NA THEN IWCR=0;

[F ISSR>0 & ISSOFM=NA THEN ISSCFM=0;

[F ISSCFM>0 & ISSR=NA THEN ISSR=0:

[F TODR>O € I10ODOFM=NA THEN IODOFM=0:;

'F IONOFM>D0 & TODR=NA THEN IODR=0;

'F TVCR=NA | IVCOFM =NA | IWCR=NA | IWCOFM=NA | ISSR=NA | ISSOFM=NA |

[ =NA | 10D0F4=NA THEN GO TO DAEND:

iLaFf INC=INC+IVCR+IVCOFM+IWCR+IWCOFM+ISSR+ISSOFM¢IODR+I0ODOFM;

'F 'SR=NA & (QIOSSAFM=0 | 10SSS>0 | [0SSOFM>0) THEN IOSSR=0:
tuSSS=NA & (QIOSSAFM=0 | [OSSR>M0 | I0SSOFM>0) THEN 10SSS=03;

- IOSSOF“=NA £ (QIOSSAFM=0 | IOSSR>0 | 10SS$SS>0) THEN IOSSOFM=0;

F IOSSR=NA | IPSSS=NA | [0SSCFM=NA THEN GO YO DAEND;

'LSE INC=INC+IOSSR+IOSSS+I0OSSOFM;

'F ISICR=NA & (ISICAFM=0 | ISICS>0 | ISICOFM>0) THEN ISICR=0;

F ISICS=NA €& (ISICAFM=0 | [SICR>0 | ISICOFM>0) THEN ISICS=0;

F ISICOFM=NA & (ISTCAFM=0 | ISICRD0 | ISICS>0) THEN ISICOFM=0;

F ISICR=NA | ISICS=NA | ISICOFM=NA THEN GO TO DAEND: :

'LSE INC=INC+ISICR+ISICS+ISICOFM;

F IWPAAFM=NA £ QWPAAFM=0 THEN IWPAAFM=0;

F IWPAAFM=NA THEN GO TO DAEND;

‘LSE INC=INC+IWPAAFM;

000=MA;

F OGFS=0 & NMGFS=NA & MIGFS=NA € CGFS=NA THEN FOOD=0;

F NMGFS>0 & MIGFS>0 & CGFS>=0 THEN FOOD=NMGFS*(MIGFS=CGFS);

F FOCD=NA THEN GO TO DAEND;

LSE INC=INC+FOCD;

F 1APRa=NA & NIAP=0 THEN IAPR=0;

F [APCFM=NA & QIAP=0 THEN [APOFM=0;

F IAPR=NA | 1APOFM=NA THEN GO TO DAEND;

LSE IMC=INC+IAPR+IAPQOFM;

F ICSP=NA & QICSP=0 THEN ICSP=03:

F ICSP=NA THEN GO TO DAEND;

. INC=INC+ICSP;

F LSFPR=NA & (QLSFP=0 | LSFPS>0 | LSFPOFM>0) THEN LSFPR=0;

F PS=NA & (QULSFP=0 | LSFPRY0 | LSFPOFM>0) THEN LSFPS=0:
LoFPOFM=NA & (QLSFP=0 | LSFPRYD | LSFPS>O) THEN LSFPOFM=0;

LSFPR=NA | LSFPS=NA | LSFPOFM=NA THEN GO TO DAEND;
LSE INC=INC+LSFPR+LSFPS+LSFPOFNM;
F IRPR=NA & (QIRP=0 | [RPS>0 | IRPOFM>O) THEN IRPR=0;
F IRPS=NA & (QIRP=0 | [RPR>O | IRPOFM>Q) THEN IRPS=0;

..... cemmaca 't *anecwuar e . PMEN TRDAEM=OC T
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1. {AOI=NA & QlAQI=0 THEN [AQI=0;
YF 1AQI=NA THEMN GO TO DAEND?:

SE INC=INC+I1AQL;
ou TO FINITO

DAEND: INC=NA: .
FINITO:

R{4527.)=INC; .
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